

Item #	Quantity **	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / DPRC PRICING PAGE - BID #: CR-8608-W6 Must bid all items - award in aggregate.								
1	4	each	ADA RESTROOM (year round)	\$ 15.00	x 4 =	\$ 60.00	x 52 =	\$ 3120.00
2	6	each	ADA RESTROOM (seasonal)	\$ 15.00	x 6 =	\$ 90.00	x 31 =	\$ 2790.00
3	2	each	STANDARD RESTROOM (seasonal)	\$ 12.00	x 2 =	\$ 24.00	x 10 =	\$ 240.00
4	717	each	SERVICE RESTROOM (ADA and Standard)	\$ 20.00	x 846 =	\$16,920.00		\$ 16,920.00
						TOTAL ALL ITEMS (1-4)	=	\$23,070.00
*low bid for DPRC (Group A) will be added to total for Rec-Worcester for a total bid/award price								
** quantities above are estimated annual for Parks Department only								
***other city departments may utilize this agreement at the contract unit pricing. Vendor to hold pricing same for all departments.								

BIDDER NAME: United Site Services Northeast, Inc.

Item #	Quantity **	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / Rec-Worcester PRICING PAGE - BID #: CR-8608-W6 ***Must bid all items - award in aggregate.								
1	5	each	ADA RESTROOM (seasonal)	\$ 15.00	x 5 =	\$	x 8 =	\$ 600.00
2	5	each	STANDARD RESTROOM (seasonal)	\$ 12.00	x 5 =	\$	x 8 =	\$ 480.00
3	160	each	SERVICE RESTROOM (ADA and Standard)	\$ 20.00	x 160 =			\$ 3200.00
						TOTAL ALL ITEMS (1-3)	=	\$ 4280.00 *
*low bid for Rec-Worc (Group B) will be added to total for DPRC for a total bid/award price								
*** quantities above are estimated annual for Recreation Worceste Summer Program only								

Item #	Quantity	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / DPRC PRICING PAGE - BID #: CR-8608-W6 Must bid all items - award in aggregate.								
1	4	each	ADA RESTROOM (year round)	\$ 55	x 4 =	\$ 220	x 52 =	\$ 11440
2	6	each	ADA RESTROOM (seasonal)	\$ 55	x 6 =	\$ 330	x 31 =	\$ 10230
3	2	each	STANDARD RESTROOM (seasonal)	\$ 55	x 2 =	\$ 110	x 10 =	\$ 1100
4	717	each	SERVICE RESTROOM (ADA and Standard)	\$ 15	x 846 =			\$ 12690
						TOTAL ALL ITEMS (1 - 4)	=	\$ 35460.00
*low bid for DPRC (Group A) will be added to total for Rec-Worcester for a total bid/award price								
** quantities above are estimated annual for Parks Department only								
*** other city departments may utilize this agreement at the contract unit pricing. Vendor to hold pricing same for all departments.								

Item #	Quantity**	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / Rec-Worcester PRICING PAGE - BID #: CR-8608-W6 Must bid all items - award in aggregate.								
1	5	each	ADA RESTROOM (seasonal)	\$ 55	x 5 =	\$ 275	x 8 =	\$ 2200
2	5	each	STANDARD RESTROOM (seasonal)	\$ 55	x 5 =	\$ 275	x 8 =	\$ 2200
3	160	each	SERVICE RESTROOM (ADA and Standard)	\$ 15	x 160 =			\$ 2400
						TOTAL ALL ITEMS (1 - 3)	=	\$ 6800.00
**low bid for Rec-Worc (Group B) will be added to total for DPRC for a total bid/award price								
** quantities above are estimated annual for Recreation Worcestes Summer Program only								

BIDDER NAME: CHASE/HARRIS Portable Toilets Inc.

Item #	Quantity **	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / DPRC PRICING PAGE - BID #: CR-8608-W6 Must bid all items - award in aggregate.								
1	4	each	ADA RESTROOM (year round)	\$ 55-	x 4 =	\$ 220-	x 52 =	\$ 11,440-
2	6	each	ADA RESTROOM (seasonal)	\$ 55-	x 6 =	\$ 330-	x 31 =	\$ 10,230-
3	2	each	STANDARD RESTROOM (seasonal)	\$ 45-	x 2 =	\$ 90-	x 10 =	\$ 900-
4	717	each	SERVICE RESTROOM (ADA and Standard)	\$ 40-	x 846 =			\$ 33,840-
				TOTAL ALL ITEMS (1-4) =				\$ 56,410-
*low bid for DPRC (Group A) will be added to total for Rec-Worcester for a total bid/award price								
** quantities above are estimated annual for Parks Department only								
***other city departments may utilize this agreement at the contract unit pricing. Vendor to hold pricing same for all departments.								

Slims + Berthiaume

Item #	Quantity	Unit Meas	Description	Price per unit	x Quantity	Total Per Week	x # of weeks	Total Annual
Portable Restroom Services / Rec-Worcester PRICING PAGE - BID #: CR-8608-W6 Must bid all items - award in aggregate.								
1	5	each	ADA RESTROOM (seasonal)	\$ 55-	x 5 =	\$ 275-	x 8 =	\$ 2,200-
2	5	each	STANDARD RESTROOM (seasonal)	\$ 45-	x 5 =	\$ 225-	x 8 =	\$ 1,800-
3	160	each	SERVICE RESTROOM (ADA and Standard)	\$ 40-	x 160 =			\$ 6,400-
						TOTAL ALL ITEMS (1-3)	=	\$ 10,400.-
*low bid for Rec-Worc (Group B) will be added to total for DPRC for a total bid/award price								
** quantities above are estimated annual for Recreation Worceste Summer Program only								

Slims + Berthiaume